
Boost- Strawberries, Lemons, 
Blueberries Boost Close Reading- Watermelons  







She put on her seatbelt, started the car, and backed out of the driveway. 

My mom buckled her seatbelt, turned the key in the ignition, and 
threw her car into reverse as she sped out of the driveway. 



Language Objective: Students be able to identify 
key details that reveal motivations 



Rejoice-Verb-We have not 
had much to rejoice about 

over the past few years. 





DOOR SIDE 

Complete Tab 3- all 3 
cards 

You are looking to identify 
what is Dr. Lazear’s 

motivation in letting the 
mosquito bite Dr. Carroll

WINDOW SIDE 

Complete Tab 4- all 3 
cards 

You are looking to identify 
what is Dr. Carroll’s 

motivation in letting the 
mosquito bite him



WRITE! - Tab 6

Lazear Group

If he had known the 
results, would Dr. 
Lazear have allowed 
the mosquito to bite 
Dr. Carroll?
[Sentence Starters on Slide 12]

Carroll Group

If he had known the 
results, would Dr. 
Carroll have let the 
mosquito bite him?
[Sentence Starters on Slide 13]

When you’re done, complete the Exit Ticket in Tab 10, then choose Boost or IXL



WRITE! - Tab 6Lazear Group

Claim: If he had known the results, Dr. Lazear (would/would not) have allowed the 
mosquito to bite Dr. Carroll.

Evidence #1: First, in chapter ___ ,  paragraph ___ , the author writes, 
“_______________________________”

Reasoning #1: This quote shows that Dr. Lazear (would/would not) have allowed 
the mosquito to bite Dr. Carroll, because ______________________________ .

Evidence #2: Second, in chapter ___ ,  paragraph ___ , the author states, 
“_______________________________”

Reasoning #2: This quote also shows that Dr. Lazear (would/would not) have 
allowed the mosquito to bite Dr. Carroll, because ________________________ .

Conclusion: In conclusion, Dr. Lazear (would/would not) have allowed the 
mosquito to bite Dr. Carroll if he had known the results.



WRITE! - Tab 6Carroll Group

Claim: If he had known the results, Dr. Carroll (would/would not) have let the 
mosquito bite him.

Evidence #1: First, in chapter ___ ,  paragraph ___ , the author writes, 
“_______________________________”

Reasoning #1: This quote shows that Dr. Carroll (would/would not) have let the 
mosquito bite him, because ______________________________ .

Evidence #2: Second, in chapter ___ ,  paragraph ___ , the author states, 
“_______________________________”

Reasoning #2: This quote also shows that Dr. Carroll (would/would not) have let the
mosquito bite him, because ______________________________ .

Conclusion: In conclusion, Dr. Carroll (would/would not) have allowed the 
mosquito to bite him if he had known the results.


